

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD.

(CIN No. U40109MH2005SGC153646)

From:- Executive Engineer (Civil)

EHV Civil Construction cum Maintenances Division Nashik
"Administrative Building" ,Block No. 6,1nd floor, Racca Plot, Old Saykheda Road,
Jail Road, Nashik Road-422 101.

Ph No.:-0253-2403102 (O), Extension Phone No, 0253-2403110 E-Mail ID :ee5710@mahatransco.in Website: www.mahatransco.in

Ref. No. EEC/EHV/CCCM Dn/NSK/Tech- 1 1 1 Date:-

10 1 4 0 9 Bate:- 2 9 AUG 201

e- Quotation

Sealed and superscripted e- quotations are invited for the work of "Inside & out side painting to main control room at 220 KV Sub station Malegaon (Dabhadi), Dist:- Nashik." As detailed in schedule "B" is enclosed herewith subject to following terms and conditions.

Name of Work:- Inside & out side painting to main control room at 220 KV Sub station Malegaon (Dabhadi), Dist:- Nashik.

The quotations should reach to this office on or before 07/09/2018 up to 15.00 Hrs

- The rates [percentage] should be quoted on Firm Quotation basis (Two Bid System only) including cost of materials, labours & T&P etc. required for execution of the work.
- (a) Compulsory Primary Documents in 1st Envelop:(Technical Bid)
 - (i) Valid Certificate of Registration of <u>appropriate class for Civil works</u> from PWD /MES/ Railways/ Jeevan Pradhikaran ETC.OR From Any Govt. / Central Government.
 - (ii) GST/ GSTIN Registration Certificate.
 - (iii) E.P.F. Registration Certificate issued by competent authority of Govt.
 - (iv) Experience of having successfully completed similar civil works.
 - (v) Payment of EMD Rs. 3000.00 to be made by bidder off-line only upto 14.00hrs of 07/09/2018 in the office of EE(C), Dn., Nashik. EMD details Amount and M.R. No. should be super-scribed on the Envelope
- (b) Documents in 2nd Envelop:(Price Bid)
- i) Price bid only where in the rates/percentage should be quoted in figures as well as in words.

NOTE:- Envelop No.2 (Price Bid) will be opened after qualifying in (Technical Bid) Envelop No.1

- The quantities enumerated in here attached Schedule B are approximate, however the payment will be made against actual executed quantities on site.
- 3) The work should be completed within 15 days from the date of handing over the site to commence the work, failing of which a penalty at ½% per week subject to the maximum 10% of the ordered value will be imposed.
- 4) The work should be strictly carried out as per standard specifications & up to the entire satisfaction of the Engineer-in-charge.
- 5) Cement of approved make OF MANIKGARH/ACC/Orient/Rajshree as per IS 8912-1989 i.e.43-grade OPC or equivalent approved make will be procured & used.
- 6) No materials will be supplied by the MSETCL for this work except materials as shown in Schedule A

-) Payment will be made through First & Final bill/ R.A. bill basis at the discretion of undersigned.
- 8) The contractor will have to pay security deposit to this office equal to 5% of the ordered value.
- 9) In case any accident occurred to the Contractor's labour/workmen during execution of work, the contractor will be fully responsible for all claims & compensation. No charge in any case will be borne by the MSETCL
- 10) The materials to be utilized for the work should be getting approved from the Engineer-in-charge prior to its utilization for the work.
- 11) The terms &conditions enumerated in the approved Booklet "TENDER AND CONTRACTOR FOR WORKS" will be applied in this case & will be binding on the contractor entirely.
- 12) Right to accept any or to reject any or all the quotations without assigning any reason there of is reserved by the undersigned.
- 13) Payment will be released to agency as per availability of funds. Further MSETCL will not pay any compensation due to non availability of funds.

Yours faithfully,

Executive Engineer [Civil]

Copy s.w.r.t.-

- 1) The Chief Engineer EHV Projects cum O&M Zone, Nashik.
- 2) The Superintending Engineer EHV CCCM Circle, Nashik.

Copy to-

- 1) Additional Executive Engineer [Civil] EHV Civil S/Dn.-II, Nasik.
- 2) The Dy. Manager [F&A] Dn. Office, Nashik.
- 3) Master File/Notice Board.

MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LIMITED EHV Civil Construction Cum Maint. Division. Nashik.

Name of Work -Inside & out side painting to main control room at 220 KV Sub station Malegaon (Dabhadi), Dist:-Nashik.

Schedule "B"

No.	Description of Item	Quantity	Rate	Unit	Amount
1	Providing internal cement plaster 20mm. thick in two coats in cement mortar 1:3 without neeru finish, to concrete, brick surface, in all positions including scaffolding and curing etc. complete.		336.0	Sqm	672.00
2	Scraping out old white wash or colour wash or distemper by steel wire brushing and / or scrapping by sand paper and preparing the wall surface smooth including necessary repairs to scratches, applying putty etc. complete. Additional Item Spec. No.: As directed by Engineer in charge.	1050.00	7.0	Sqm	7350.00
3	Providing and applying primer coat for wall surface to receive oil bound distemper treatment etc. complete.	1050.00	19.0	Sqm	19950.00
4	Providing & applying washable oil-bound distemper of approved colour and shade to old & new surfaces in two coats including scaffolding, preparing the surfaces. (excluding the primer coat.) etc. complete.	100.00	32.0	Sqm	3200.00
5	Providing and applying plastic emulsion paint of approved quality, colour and shade to old and new surfaces in two coats including scaffolding, preparing the surface. (excluding the primer coat)etc. complete.	900 00	57.0		51300.00
6	Providing and applying two coats of textured synthetic paint of approved shade and quality and one coat of primer before applying textured paint including scaffolding if necessary preparing surface by thoroughly cleaning oil, grease, dirt and other materials as required, etc. complete.	480.00	125.0	Sqm	60000.00
7	Providing and applying two coats of appex Appex Ace white exterior paint of approved manufacture and of approved colour to the plastered surfaces including cleaning ,preparing the plaster surface ,applying primer coat ,scaffolding if necessary , and watering the surface for two days etc complete.	160.00	208.0	Sqm	33280.00
8	Providing and applying two coats of synthetic enamel paint of approved colour to new /old structural steel work and wood work in buildings, including scaffolding if necessary, cleaning and preparing the surface (excluding primer coat) etc. complete.	6.00	62.0	Sqm	372.00
9	Providing and applying 2 coats of acid Resisting paint of approved colour and shade to plastered/wooden surface in all position including scaffolding if necessary preparation of surface and priming coat etc. complete. As directed by Engineer in charge.	60.00	102.0	Sqm	6120.00
10	Providing and fixing false ceiling of 15mm thick Acoustic tubular Armstrong/ Everest/ AMS (0.60 x 0.60 m.) boards of approved make shape and sizes as per drawings including powder coated G.I. wall angle of 20 mm x 20 mm x 0.60 mm size, G.I. grid runners of size 15 mm x 38 mm at 600 mm center to center both ways and suspended using G.I. 3 mm wire including fixing using butterfly clips and fasteners including transporting, scaffolding all necessary labour and machinery, finishing etc. complete.	9.00	1495.0	Sqm	13455.00

No.	Description of Item	Quantity	Rate	Unit	Amount
11	Providing and fixing in position, Double shuttered aluminium extruded powder coated openable door of specified size with aluminium door frame of powder coated section 101.60 x 44.75mm, 3.18 mm thick and shutter comprising of powder coated section having bottom and lock rail of size 150 mm x 44.5 mm x 3.00 mm thick top rails 47.62 x 44.45 mm x 3.00 mm thick, vertical style 47.62 x 44.45 mm, 3.00 mm thick and for shutter plain glass panes 5 mm thick for top panels and 12mm thick both side laminated phenol bonded particle board panels for bottom panels etc., I.S.I. mark, heavy duty, Hydraulic floor spring of 150 kg capacity, having heavy duty concealed lock, necessary beading, glazing clips, PVC gaskets, 250mm length aluminium tower bolts, 150mm dia. pad handle, etc. as per detailed design and drawing or as directed by engineer in charge including all materials, labours, and equipment etc.complete	4.00	14588.0	Sqm	58352.00
	Total Rs.				254051.00
		Add (GST 18%	45729.18	
Total I					
			1	Say Rs.	299780.00

Executive Engineer (Civil)

EHV CCCM Dn. Nashik.

I / We hereby agree to carrypout the above work as under :-

- a) At estimated cost.
- b) Above......% in words......Of Estimated cost in Schedule "B"
- c) Below......% in words......Of Estimated cost in Schedule "B"
- I/ We have read the instructions and the same are binding on me / us.

Signature of the Contractors & Address.